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1.

(a) What is the Production Possibility Curve (PPC) ?
Explain the concept of opportunity cost and why
the PPC is concave shaped. Show the effect of
Economic Growth on the PPC. 2.5,45,2

(b) Draw:
(i) a demand curve with unitary price elasticity
(i1) a supply curve with price elasticity =1
(iii) a supply curve with price elasticity = o
(infinity) | 6
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(a) Explain what will happen to equilibrium quzintity
and equilibrium price for Strawberry Jam in the

following situations : 3,3,2

(i) The price of bread increases
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(b)

(%)

(a)
(b)

(i1) The cost of Strawberries decreases

(iii) Both 1) and i1) happen at the same time
When Shyam's monthly income is Rs. 1000 he buys
20 CDs per month. When his income increases (o
Rs. 2000 per month, he buys 50 CDs per month.
Calculate his income elasticity of demand for CDs.
Are CDs a normal good for him ? 7
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Explain the concept of consumer surplus. 5
(i) Define an Indifference Curve. (ii) Why are
Indifference Curves convex to the origin ? (iii) Can

any two Indifference Curves intersect ? Explain.
2,4,2
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(c) A household spends ail his income on the purchase

of two goods X and Y. Show that with the doubling
of income of the household and the prices of both

goods, it will continue to buy the same quantities
of X and Y as before. 2
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(a) Do all inferior goods have a downward sloping

demand curve ? [llustrate in a diagram using
substitution and income effects and explain. 10

(b) Show the Price Consumption Curve (PCC) and

income Consumption Curve (ICC) for a normal
good. 5
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Use isoquants to show the combination of inputs
that would minimize a firm's costs and explain what
these mean for the choice of inputs that a profit

maximizing firm will use ? 7

What is a production function ? Distinguish
between the short run and long run production
functions. 3
Interpret the inequality MP /P, >MP,/P,. where
MP, and MPy refer to the marginal product of
labour and capital respectively, and P; and Py
represent the prices per unit of labour and capital

respectively. When is equilibrium established ? 5
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6. (a) Explain the paradox of value. 6

(b) Explain short run and long run average costs. 9
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7. (a) Discuss the short run equilibrium conditions for a
perfectly competitive firm. Iliustrate
diagrammaticaily. : 9

~(b) Explain the concept of allocative efficiency under
perfect competition. 6
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Write short notes on any two of the following :

7.5 marks each

{i) Difference between accounting and economic
profits.

(ii) Price Ceiling

(iti) Sources of increasing returns to scale
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